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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration

.0584
134.5

7.8
.0583

134 0582}

7.78

).0581

133.5
3 7.76 L
0.058

133 0579}

I 7.74} I

0578}

132.5:' 7.72F L
-|||||||||||||||||||||||||||||||||||||| -|||||||||||||||||||||||||||||||||||||| '0577_||||||||||||||||||||||||||||||||||||||

0 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7



o/p vs. Iteration (E1, E2 > 500 MeV) o/p vs. lteration (E1, E2 > 700 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red) Current iteration (B|Ue) and current ccdb constants (Red)
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